


         

B.B.A.M. DEGREE EXAMINATION – 
JUNE 2008.

FINANCIAL AND MANAGEMENT ACCOUNTING

Time : 3 hours
Maximum  marks : 75

Answer for 5 marks questions should not exceed 
2 pages.

Answer for 10/15 marks questions should not exceed 
5 pages.

SECTION A — (3 ( 5 = 15 marks)

Answer any THREE questions.

1. Name the different accounting concepts. Briefly explain money measurement concept.

£»ÁøP¯õÚ PnUQ¯À ÷Põm£õkPÎß ö£¯ºPøÍ uµÄ®. £n AÍÃk ÷Põm£õmøh _¸UP©õP ÂÍUPÄ®.
2. What are different types of Errors? Explain with examples.

£» ÁøP¯õÚ ¤øÇPøÍ Euõµn[PÐhß ÂÍUPÄ®.

3. From the following information calculate.

(a)
Purchases

(b)
G.P. Ratio.






   Rs.


Sales



16,992


Sales Returns

     190



Stock in the beginning
     689



Stock at the end

     907  


Gross profit

  4,034

RÌPsh uPÁÀPÎ¼¸¢x 

(A)
öPõÒ•uÀ

(B)
ö©õzu C»õ£ ÂQu® PnUQhÄ®.






    ¹.


ÂØ£øÚ


16,992


ÂØ£øÚ v¸¨£®

       190


öuõhUP \µUS

     689


CÖv \µUS


      907


ö©õzu C»õ£®

  4,034

4. B. Jain made a Net profit of Rs. 1,00,000 for the year ending 31.3.05 after taking into account the following.

	
	Rs.

	Loss on sale of machinery
	10,000

	Depreciation on Building
	4,000

	Depreciation on machinery
	5,000

	Preliminary expenses written off
	5,000

	Provision for Taxation
	10,000

	Good will written off
	5,000

	Gain on sale of Buildings
	8,000


Find out cash from operations.

31.3.05–À RÌPsh ÂÁµ[PøÍ PnUQÀ GkzxU öPõsk ¤.öá°ß ¹ 1,00,000 {Pµ C»õ£® DmiÚõº.

	
	¹.

	C¯¢vµ® ÂØÓvÀ |mh®
	10,000

	Pmhhzvß «x ÷u´©õÚ®
	4,000

	C¯¢vµzvß «x ÷u´©õÚ®
	5,000

	÷uõØÖÂUS® ö\»ÄPÒ ÷£õUS GÊxuÀ
	5,000

	Á¸©õÚÁ›US JxURk
	10,000

	ÁõoP |Øö£¯º ÷£õUS GÊxuÀ
	5,000

	Pmhh ÂØ£øÚ°À Buõ¯®
	8,000


|h©õmh öµõUPzøu PnUQhÄ®.
5. From the following particulars, calculate the sales required to make a profit of Rs. 1,20,000






Rs.


Sales


   6,00,000


Variable cost
   3,75,000


Fixed cost

   1,80,000

RÌUPsh uPÁÀPÎ¼¸¢x ¹. 1,20,000 C»õ£® Dmh, ö\´¯¨£h ÷Ási¯ ÂØ£øÚ GÆÁÍÄ GÚ PnUQhÄ®.






¹.


ÂØ£øÚ

6,00,000


©õÖ® ö\»ÄPÒ
3,75,000


{ø»a ö\»ÄPÒ
1,80,000
SECTION B — (4 × 15 = 60 marks)

Answer any FOUR questions.

6. Enter the following Transactions of 
Thiru. K. Mugilan in the Cash Book with Cash and Bank columns for the month April 2006 and Balance the Cash Book.

	2006 April
	
	Rs.

	1
	Cash Balance
	7,200

	
	Bank Balance
	43,000

	4
	Received from sam by cheque on account
	6,500

	9
	Kumar paid for sale of goods in cash
	3,400

	10
	With drawn for Household expenses
	1,200

	15
	Balan was paid  for machinery 
  by cheque
	
13,000

	17
	Withdrawn from Bank
	9,600

	24
	Goods purchased for in cash  
 and by cheque
	2,400

5,800

	27
	Received from Rajan for goods 
  sold in the last month
	
5,000

	28
	Deposited cash into Bank
	14,000

	30
	Paid staff salaries by cheque
	8,400

	30
	Paid office rent in cash
	2,000


RÌPsh öµõUP |hÁiUøPPøÍ öµõUP HmiÀ £vÄ ö\´x, öµõUP, Á[Q C¸¨ø£ uÛzuÛ¯õP PnUQhÄ®.

	
	
	¹.

	2006 H¨µÀ 1
	 C¸¨¦ öµõUP®
	
7,200

	
	 C¸¨¦ Á[Q
	43,000

	4
	 \õ® PnUQÀ öPõkzu Põ÷\õø»
	6,500

	9
	 öµõUP ÂØ£øÚUPõP S©õ›h® ö£ØÓ öuõøP
	3,400

	10
	 Ãmk ö\»ÂØPõP Gkzu öµõUP®
	1,200

	15
	 C¯¢vµzvØPõP £õ»ÝUS öPõkzu Põ÷\õø»
	13,000

	17
	 Á[Q°¼¸¢x Gkzu öµõUP®
	9,600

	24
	 öPõÒ•u¾UPõP öPõkzu öµõUP® 
	2,400

	
	    ©ØÖ® Põ÷\õø»
	5,800

	27
	 Ph¢u ©õu® ÂØ£øÚ ö\´uuØPõP
	

	
	   µõáÛhª¸¢x ö£ØÓ öuõøP
	5,000

	28
	 Á[Q°À ö\¾zv¯ öµõUP®
	14,000

	30
	 A¾Á»P Fv¯® Põ÷\õø» ‰»©õP öPõkzux
	8,400

	30
	 A¾Á»P ÁõhøP ö\¾zv¯x
	2,000


7. Prepare final accounts for the year ending 31.3.06 of Thiru. Anbu from the particulars given below.

Adjustments

(a)
Closing stock Rs. 20,000

(b)
Prepaid Insurance Rs. 2,000

(c)
Wages outstanding Rs. 1,000

(d)
Charge interest on capital at 5% per annum.

(e)
Provide for bad and doubtful debts at 5% on Debtors.

	Debts
	Rs.
	Credits
	Rs.

	Land and Buildings
	40,000
	Sales
	
90,000

	Furniture
	10,000
	Returns 
	

	Opening stock
	15,000
	 outward
	4,000

	Purchase
	50,000
	Interest receive
	500

	Return Inward
	3,000
	Creditors
	16,000

	Carriage
	2,000
	Bills payable
	10,000

	Cash
	6,000
	Capital
	51,000

	Bank
	8,500
	Provision for 
	

	Salary
	12,500
	 bad and 
	

	Insurance
	3,000
	 doubtful debts
	2,000

	
	Rs.
	
	Rs.

	Bad debts
	1,000
	
	

	Discount allowed
	2,000
	
	

	Loan to X @ 10% p.a
	10,000
	
	

	Wages
	6,500
	
	

	Debtors
	30,000
	
	

	Drawings
	4,000
	
	

	
	1,73,500
	
	1,73,500


v¸. Aß¦Âß 31.3.06À •iÁøh²® BsiØPõÚ CÖv PnUSPøÍ RÌUPsh uPÁÀPÎ¼¸¢x u¯õ›UPÄ®.

\›Pmh¨£h ÷Ási¯øÁ :--–

(A)
CÖv \µUS ¹ 20,000

(B)
•ß Tmi÷¯ ö\¾zv¯ Põ¨¥k ¹. 2,000

(C)
{¾øÁ°À EÒÍ T¼ ¹ 1,000

(D)
•uÀ «x Ámi 5% Á¸hzvØS PnUQhÄ®.

(E)
PhÚõÎPÒ «x 5% I¯UPhß Põ¨¥k ö\´¯Ä®.

	£ØÖPÒ
	¹.
	ÁµÄPÒ
	¹.

	{»•®/Pmhh•®
	40,000
	 ÂØ£øÚ

	90,000

	AøÓP»ß
	10,000
	 öÁÎzv¸¨£®
	4,000

	öuõhUP \µUS
	15,000 
	 ö£ØÓ Ámi
	500

	öPõÒ•uÀ
	50,000
	 Phß D¢÷uõº
	16,000

	
	¹.
	
	¹.

	EÒv¸¨£®
	3,000
	 ö\¾zu¨£h ÷Ási¯
	

	EÒyUS T¼
	2,000
	   Esi¯À
	10,000

	öµõUP®
	6,000
	 •uÀ
	51,000

	Á[Q C¸¨¦
	8,500
	 I¯UPhß Põ¨¦
	2,000

	\®£Í®
	12,500
	
	

	Põ¨¥k
	3,000
	
	

	ÁµõUPhß
	1,000
	
	

	AÝ©vzu uÒÐ£i
	2,000
	
	

	XUS öPõkzu Phß 10%
	10,000
	
	

	T¼
	6,500
	
	

	PhÚõÎPÒ
	30,000
	
	

	Gk¨¦
	4,000
	
	

	
	1,73,500
	
	1,73,500


8. The following is the summarised Profit of Loss a/c.

Trading and Profit and Loss A/c.

	
	Rs.
	
	Rs.

	To opening stock
	10,000
	By sales
	1,00,000

	To Purchases
	55,000
	Closing stock
	15,000

	To Gross profit
	50,000
	
	

	
	1,15,000
	
	1,15,000


	
	Rs.
	
	Rs.

	To Administration expenses
	15,000
	By Gross profit
	50,000

	To Interest
	3,000
	
	

	To selling Expenses
	12,000
	
	

	To net profit
	20,000
	
	

	
	50,000
	
	50,000


Calculate following Ratios :-

(a)
Gross profit Ratio

(b)
Net Profit Ratio

(c)
Operating Ratio

(d)
Stock Turnover Ratio

(e)
Expenses Ratio.

_¸UP¨£mh C»õ£/|mh PnUS uµ¨£mkÒÍx.

Â¯õ£õµ ©ØÖ® C»õ£/|mh PnUS

	
	¹.
	
	¹.

	öuõhUP \µUS
	
10,000
	ÂØ£øÚ
	1,00,000

	öPõÒ•uÀ
	55,000
	CÖv \µUS
	15,000

	ö©õzu C»õ£®
	50,000
	
	

	
	1,15,000
	
	1,15,000


	{ºÁõPa ö\»ÄPÒ
	15,000
	ö©õzu C»õ£®
	50,000

	Ámi
	3,000
	
	

	ÂØ£øÚa ö\»ÄPÒ
	12,000
	
	

	{Pµ C»õ£®
	20,000
	
	

	
	50,000
	
	50,000


RÌPsh PnUQ¯À ÂQu[PøÍ Psk¤i.

(A)
ö©õzu C»õ£ ÂQu®

(B)
{Pµ C»õ£ ÂQu®
(C)
C¯UP C»õ£ ÂQu®
(D)
\µUQ¸¨¦ ÂØ£øÚ ÂQu®

(E)
ö\»ÄPÒ ÂQu®.


9. “R” Ltd provides the following details.


Sales units


15,000


Fixed expenses
  Rs.  34,000


Sales


Rs. 1,50,000


Variable cash Rs. 6 per unit.

You are required to find

(a)
P/V Ratio

(b)
B.E.P. (in units)

(c)
Margin of safety

(d)
Profit made

(e)
No of units to be sold to make a profit of 
Rs. 50,000.

R. ¼m RÌUPsh uPÁÀPøÍ öPõkUQßÓx.


ÂØ£øÚ A»SPÒ

15,000


|ø»a ö\»ÄPÒ
     ¹.  34,000


ÂØ£øÚ

   ¹. 1,50,000


J¸ A»SUS HØ£k® ©õÖ£h Ti¯ ö\»Ä ¹. 6.

RÌPsh ÂQu[PøÍ PnUQk

(A)
£[PÎ¨¦ ÂQu®

(B)
C»õ£ |mh ©ØÓ ÂØ£øÚ ¦ÒÎ 
(– A»SPÎÀ)

(C)
£õxPõ¨¦ £Sv

(D)
Dmi¯ C»õ£®

(E)
¹. 50,000 C»õ£ |mh, ÂØ£øÚ ö\´¯¨£h ÷Ási¯ A»SPÒ GzuøÚ?
10. How the budgets are classified? Explain fixed and flexible budgets.

vmhªkuÀ GÆÁõÖ £õS£õk ö\´¯¨£kQÓx? ©õÓõu ©ØÖ® ©õÖ£hUTi¯ vmh ªkuø» ÂÍUPÄ®.
11. Briefly explain fund flow statement and cash flow statement. What are their differences?

{v |h©õmh AÔUøP, öµõUP |h©õmh AÔUøP¨ £ØÔ ÂÍUP©õP TÓÄ®. AøÁPÎß Âzv¯õ\[PøÍ SÔ¨¤hÄ®.
12. Rectify the following Errors :

(a)
Rs. 600 received from A on 28.3.06 was entered on 02.04.06.

(b)
The Returns Inward Book for March 06 shown Rs. 2000 less in totals.

(c)
The purchase of a Type writer for Rs. 8000 was entered in the purchases Journal.

(d)
Wages of workers engaged in construction of Building amounting for Rs. 5,000 were debited to wages A/c.

(e)
A purchase of Rs. 671 had been posted to the debit of Mohan as Rs. 617.

RÌPsh ¤øÇPøÍ v¸zuÄ®.

(A)
28.3.06 À A°h® ö£ØÓ öµõUP® ¹. 600, 02.04.06À uõß £vÄ ö\´¯¨£mhx.

(B)
©õºa_ 06–UPõÚ EÒv¸¨£ PnUS ¹ 2,000 SøÓÁõP Tmh¨£mkÒÍx.

(C)
¹ 8,000US Áõ[Q¯ A¾Á»P umha_ öPõÒ•uÀ HmiÀ £vÄ ö\´¯¨£mkÒÍx.

(D)
Pmhh öuõÈ»õÍºPÐUS öPõkzu T¼ 
¹ 5,000, T¼ PnUQÀ £ØÖ øÁUP¨£mkÒÍx.

(E)
\µUS öPõÒ•uÀ ¹. 671 ÷©õPÛh® ö\´¯¨£mhx BÚõÀ AÁº PnUQÀ ¹. 617 £ØÖ øÁUP¨£mkÒÍx.
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